Quiz 2 question
Posted: [|1 30-2014 03:10 PM

Amaong 9 electrical compon I:sa-ca:thrnm not to function properly. If £ components are random vy selected, find the probability that at lesst one does not function
praperty.
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hwk 3, Q B

Posted: 01-30-2014 02:50 PM

Suppose & box contains 3 defective light bulbs and 12 good bulbs. Two bulbs are chasen
without replacement. Tofind the probability that one of the bulbs drawn 1= g
what expression would you use?
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and one is defective,

¥+i <—
15 14
12 3
15 14
12 i_'_ 3 2
15 15 15 15
12 3 3 12
15 14 15 14



Use the following to answer questions 11-15:

P(E)=0.56,P(F)=037,P(EUF)=0.78

1L PENF)= | P(E‘U Fj = P(.E)'l'P(F)" P[E

b. 0.21
c. 0.15
d 078
¢. none of these

12. P(ECUF)=
a. 0.59

b. 0.15

c. 022

d. 0.44

c

. none of these l

PENE)

13. P(E|F)= P(¥)
a. 04744
b. 0.5676
c. 0.2679
d. 0.4054
e. none of these

14. P(F|E)= Hen e
0.4744 PCE)

0.5676
0.2679
0.4054

oRe ow

none of these
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OPeroLons wl Prob a_,Dtth:ag
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P(AUB) < P(AY+ P(B)- P(ANS)

P(n®) = PLA)+P(®) -P(AVE)
£ Bomd 6 0w bndipedud Yn PlA nB) = P(A) P (B)
not indepundank, 1 P (AN BY= PR B) P(B)

p(pi). Plrn®)
P(B)
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&1 % 28. Donald has ordered a computer and a desk
from 2 different stores. Both items are

to be delivered Tuesday. The probability that the ? [ C,
computer will be delivered before noon is .6 and = - Q’

the probability that the desk will be delivered

before noon is .8. If the probability that either P _ g

the computer or the desk will be delivered before D )

noon is .9, what is the probability that both will

be delivered before noon? p [ ) q
P(eND)= ¢
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A={2,4,6,8,10} <= o
B={1,2,3,4} _
C={4,5,6.9} Byt = i\,a,g.;q;,'ﬂ J(Q,Qi
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21. Thirty percent of the students at a local high

school face a disciplinary action of some kind 1: = ab‘l' |lh WD LlJ]‘lf.

before they graduate. Of those “felony™ students,
40% go on to college. Of the ones who do not
face a disciplinary action, 60% go on to college.

a. What is the probability that a randomly

selected student both faced a C F' ) = . -7
disciplinary action and went on to

college?

]‘D
b. What percent of the students from the > P ( F\] = . 3 .&

high school go on to college?

¢. Show if events {faced disciplinary P (a n P§

e Sl PE|F) =.% = “Hp)

Q) P(Fne) =12 = 2E0S)

b) p(c):p(FnL)JrPU:"ﬂC)
;l:l + .'{'l :'51%
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Prob. dstvvudisn
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P(&mgam%) P(Mm@«%&c@
= p(enm) =

(-5)(.3)= 5 # .
- No
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